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This paper consists of fifty multiple-choice type of

questions.
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(i) To have access to the Question Booklet, tear off
the paper seal / polythene bag on the booklet. Do not
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polythene bag and do not accept an open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
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your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.
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INTERNATIONAL AND AREA STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. Causes of war can be analysed at the
(A) Level of Individual
(B) Level of the State
(C) Level of the System
(D) All levels

2.  Post-colonialism in International

Relations deals with

(A) The colonial state in Asia and
Africa

(B) The critiques of established
Western views

(C) Power and knowledge that are
intimately connected

(D) All of the three

3. International society approach avoids
the stark choice between :
(A) Realism and Marxism
(B) Realism and Liberalism
(C) Liberalism and Marxism
(D) Realism and Constructivism

4.  Match the following concepts in List-
I with the thinkers in List-11 with the
help of code given below :

List— 1| List—11
(Concepts) (Thinkers)
a. Cultures of Anarchy 1. Robert Cox
b. Neorealist 2. Edward Said

Stability Theory
c. Post Colonialism 3. Alexander

Wendt
d. Emancipatory 4. John
knowledge Mearsheimer
Codes :
a b c d
A 4 3 1 2
B) 1 2 4 3
© ) 3 4 2 1
(D) 2 1 3 4

Paper-I1

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Post structuralism is an
emphatically political perspective.

Reason (R) : It is in the act of not
privileging that it  offers
emancipation and liberation.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation of
(A).

(C) (A)istrue, (R) is false.
(D) (A)is false, (R) is true.

Who is the author of the book ‘End
of History and the Last Man’ ?

(A) Samuel P. Huntington
(B) Sam Nunn

(C) Francis Fukuyama
(D) Raymond Aron

Which of the following is not linked
to environmental disasters ?

(A) Acidrains

(B) Global warming
(C) Tsunami

(D) Air crashes
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Identify the correct code for
Assertion (A) and Reason (R) on the
basis of code given below :

Assertion (A) : The basic logic of
environmental security is that,
globally, humanity is living beyond
the carrying capacity of the planet
Earth.

Reason (R) : The carrying capacity
refers to the total pattern of
consumption that the Earth’s
natural systems can support without
undergoing degradation.

Codes :

(A) Both (A) and (R) are correct.

(R) is the correct explanation of
(A).
(B) (A) is correct but (R) is not

correct.

(C) (A) is not correct but (R) is
correct.

(D) Both (A) and (R) are not
correct.

Who among the following, opined
that ‘the balance of power system
was not only inevitable, but also an
essential  stabilizing  factor in
International relations’ ?

(A) S.P.Cohen

(B) J.Nye

(C) H.J. Morgenthau

(D) Waltz

Choose the correct ascending
chronological order on the basis of
the code given below :

Codes :

(A) GATT ; IMF ; Bretton Woods,
WTO.

(B) Bretton Woods ; IMF ; GATT,
WTO.

(C) IMF, Bretton Woods, WTO,
GATT.

(D) GATT, Bretton Woods, IMF,
WTO.

Paper-I1

11.

12.
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15.
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G20 / G20 plus is a powerful bloc of
developing countries which came
into existence in the talks held at :

(A) Doha (B) Cancum
(C) Tokyo (D) Beijing
Match  the  following  MNCs

(Multinational Corporations) in List-I
with the countries in List-11 by using
the correct code given below :

List -1 List —11
MNCs Country
a. Seimens 1. Japan
b. Boeing 2. Germany
c. Airbus 3. USA
d. Toshiba 4. France
Codes :
a b c d
(A) 3 2 1 4
B) 2 3 4 1
< 4 1 3 2
(D) 1 4 2 3

The theory of comparative advantage
was proposed by :

(A) Adam Smith

(B) John Stuart Mill

(C) Paul Samuelson

(D) David Ricardo

The case for “Infant industry”

protection was accepted by John

Stuart Mill in his book :

(A) On Liberty

(B) Principles of Political Economy

(C) A Treatise on Industrial
Protection

(D) Justice

Identify the correct code in ascending
chronological order of the following
Arms Control regimes as given below :
l. Indefinite extension of the

Nuclear Non-proliferation
Treaty (NPT).

II. Ottawa Treaty on banning
Land mines.

I1l. Comprehensive  Test Ban
Treaty (CTBT).

IV. Chemical Weapons Convention
(CWC).

Codes :

A) v LI (B LIL LIV

© wuLiv, 1 (D) HLIv I

J-90-13
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Who among the  following,
propounded the ‘Strategy of Massive
Retaliation’ by the use of nuclear
weapons ?

(A) John F. Dulles
(B) RobertS. Mc Namara
(C) Richard Nixon
(D) Henry Kissiger

Match the following from Table-I
Table-11 by using the correct code
given below :

Table -1 Table — 11
(Country) (Terroirst operatives)
a. Palestine 1. IM
b. Lebanon 2. Hezbullah
c. Pakistan 3. Hamas
d. India 4. LeT
Codes :
a b c d
A3 2 4 1
B) 2 3 1 4
©) 4 1 3 2
(D) 1 3 2 4

Treaty of Rerotonga refers to one of
the following :

(A) Nuclear Weapons Free Zone in
the South Pacific

(B) Nuclear Weapons Free Zone in
Antarctica

(C) Nuclear Weapons Free Zone in
Latin America

(D) Nuclear Weapons Free Zone in
Africa

Paper-I1

19.

20.

21.
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Proliferation Security Initiative (PSI)
is aimed at one of the following :

(A) Preventing the proliferation of
Nuclear weapons.

(B) Negotiating in good faith for
Nuclear disarmament.

(C) Checking mutually assured

destruction.

(D) Adopting measures for peaceful
uses of Nuclear power.

Identify the correct code for the
Assertion (A) and Reason (R) as
given below :

Assertion (A) : For religious
fundamentalists, religion is not
opium of the people, but vitamin of
the weak.

Reason (R) : Religion, indigenous or
imported, provides meaning and
direction for rising extremism in
many developing countries and
Pakistan is no exception.

Codes :

(A) Both (A) and (R) are correct,
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are not correct.

(©) (A) is not correct, but (R) is
correct.

(D) (A) is correct, but (R) is not
correct.

Which of the following two ports in
India and Bangladesh were chosen
for co-operation towards speedy
economic growth ?

(A) Paradeep - Chittagong

(B) Vishakhapatanam - Chittagong
(C) Chennai port - Chittagong

(D) Krishnapatnam - Chittagong

J-90-13
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Which one of the following is the root
cause of India — China animosity ?

(A) Tibet issue

(B) Boundary dispute
(C) River water dispute
(D) Sikkim merger

India’s presence was solicited at the
1954 Indo-China peace conference in
Geneva by :

(A) Cambodian King Sihanouk

(B) US secretary of State, John
Foster Dulles.

(C) The Foreign Secretary of Great
Britain, Anthony Eden

(D) Foreign Minister of the Soviet
Union, Molotov

Under whose premiership India’s
Foreign policy was restructured ?

(A) Rajiv Gandhi

(B) P.V.Narasimha Rao
(© LK. Gujral

(D) Manmohan Singh

Arrange the following events in a
chronological order by using the
correct code as given below :

l. Civil war in Pakistan

Il.  First Indo-China war

I1l.  Sino-Indian war

IV. India-Pakistan Kargil war
Codes :

A 1LV
B) IV, 11,1, 1l
©) L1V, 11
(D) IV, 11,1l

26.

217.

28.
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Who wrote the book “Stable Peace” ?
(A) Kenneth Boulding

(B) Johan Galtung

(C) Peter Wallerstein

(D) Gunnar Myrdal

Which one of the following
International organisations started a
scheme called ‘partnership for peace’
for a group of countries ?

(A) OPEC
(B) OAU
(C) OAS
(D) NATO

Match the following in Table-1 and
Table-Il on the basis of code given
below :

Table — I(Events)  Table — ll(Year)

a. UN Universal 1. 1944
Declaration of

Human Rights

b. UN International 2. 1951

year of Peace

c. UN convention 3. 1986

on Refugees

d. UN Chicago
convention on
Civil Aviation

Codes :

4. 1948

(A)
(B)
(©)
(D)

N PR O

b
2
3
3
4

w N B~ D

c
3
2
4
1
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Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Identify
the correct code for them :

Assertion (A) The concept of
development was expanded by the
UNDP which emphasized the need
for a broad process of human
development.

Reason (R) : Economic development
only cannot provide overall human
security and well being.

Codes :

(A) (A) is right but (R) is not the

correct explanation.

(B) Both (A) and (R) are true.

(C) (A) is not the right explanation

for (R).
(D) Both (A) and (R) are false.

Which one of the following articles
of the Geneva Conventions of 1949
and the protocol is common ?

(A) Article 3 (B) Article 4
(C) Article 6 (D) Article 9

Which one of the following countries
advocated for ‘Look West Policy’ in

response to India’s ‘Look East
Policy’ ?

(A) Myanmar (B) Thailand
(C) Laos (D) Cambodia

Name the South-East Asian Country
which has nuclear co-ordination with
India ?

(A) Indonesia
(C) Malaysia

(B) Vietnam
(D) Myanmar

‘Preah Vihear Temple’ dispute is
between :

(A) Thailand and Cambodia
(B) Myanmar and Thailand
(C) Thailand and Vietnam
(D) Thailand and Laos

Paper-I1

34.

35.

GET IT ON
Google Play

Identify the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Rohingya Muslim
Ethnic groups fled Myanmar after
bloody ethnic clashes with other
ethnic groups.

Reason (R) : Aang San Suu kyi did
not respond and sympathise with
Rohingyas adequately because of
her fear of alienation with majority
of other ethnic groups in Myanmar.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Match the following in List-I
(Countries) and List-11  (Ethnic
group) with the help of the code
given below :

List—1I List—11
(Coutries) (Ethnic group)

a. Vietnam 1. Rohingyas
b. Thailand 2. Black Thai
c. Myanmar 3. Akha
d. Laos 4. Ede
Codes :

a b c d
A3 2 4 1
(B) 4 3 1 2
© 2 4 3 1
D3 1 4 2
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e 3 e & S | uem o et
(A) 3R fgfa #t @ (R) &l T € |
37 foTT TEl e T =2 HIfTT ;

AfWHYA (A) : g T O R fom
FFYROT H foEar o T e
O e $I U UsHAT
STl W oA &2 |

T& (R) : IH 3WaE T THe gt
31T 3T HedTT UG et Y HeheTl |

T

(A) (A) W& T, W (R) el =ame
TIE

(B) (A) 3 (R) IHT W&l & |

(C) (A), (R) F Tel == el ¢ |
(D) (A) 3R (R) g1 Tetd € |

SHET HEvE 1949 3T Wi Wi
Trfeiae gt § 9 i | OR |99 o
TAFE?
(A) =3
(C) &6

(B) a4
(D) =W9
f=ifha <o § ¥ ThE 9Rd &
‘geitiE i % o afeeE
i =t gTERar Hf ?
(A) =ER
(C) ety

(B) wreive
(D) wEitea

TRIOTYET TREE I A AW SdRT
TR R @ TR Y &

(A) ZuSHEET (B) foudam
(C) weitern (D) =ER

‘e TR by foag Tt <ot o o €2
(A) IEUE SR HrEIEA

(B) wMR 3 oEeive

(C) oTEeivs 3R faud-m

(D) oTEvE 3R T3

34.

35.
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Google Play

afeE (A) 3R a% (R) & fow

fr=fefad e o 9 ISwge 3T H ==

HIfTT

AtHET (A) : e gRe™ Jema el
T FWER & o e 9el 9
TFRA S B 6 TR T
foRa |

a® (R) : 3T 9 g & 7 Afewar A &
T THGT T T TRl ST
3 7 & 37k &1 | 3TaTS 32k Fifh
U1 R W AR % I SgEd o
TSN TRl § 3TN U ST ol 97 T |

%

(A) (A) T (R) 3 F&l &, =] (R),
(A) Tl el =T TE T |

(B) (A) T (R) I+ W&l &, =] (R),
(A) Tl & =@ E |

(C) (A)®, (R)T™d e |

(D) (A) Tror fobe (R) WET € |

-1 (<) B gl () §

AT FIST 3R 98T F ¥ FEl W

T TI DT :

= - | =t - 1
(39T (et aE)
a. fauam 1. qferan
b. aTgATE 2. =A% Aq1E
c. ™MR 3. @
d. =eie 4. wS
HT
a b c d
(A) 3 2 4 1
(B) 4 3 1 2
© 2 4 3 1
(D) 3 1 4 2
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36. Match the following in events in
List-1 with the vyear of their
happening in List-11 with the help of
code given below :

List—1 List— 11
(Events) (Year)
a. Cuban Missile 1. 1985
Crisis
b. Warsaw pact 2. 1979
disbanded
c. Gorbachev came 3. 1962
to power
d. Soviet invasion 4. 1991
of Afghanistan
Codes :
a b c d
(A) 3 4 1 2
B 4 3 2 1
C) 2 1 3 4
(D) 1 2 4 3

37. The territorial dispute over Karakal-
pakia area falls between the
following countries :

(A) Kazakstan and Tajikistan

(B) Uzbekistan and Turkmenistan
(C) Kirgyzstan and Tajikistan

(D) Uzbekistan and Kazakstan

38. India-Russia strategic partnership
was signed in one of the following
years :

(A) Oct., 2000

(B) March, 2002
(C) December, 2004
(D) April, 2006

Paper-I1
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39.

40.

41.

GET IT ON
Google Play

The only Woman ambassador from
India in Moscow was :

(A) Sarojini Naidu

(B) Sucheta Kripalani

(C) Vijaya Laxmi Pandit

(D) Tarakshwari Sinha

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : The rebellion in South
Ossetia against Georgia occurred
when  Thilisi took away its
autonomous status.

Reason (R) : The South Ossetians
demanded either independence or
to be linked to North Ossetia.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A)istrue, (R) is false.

(D) (A)is false, (R) is true.

Identify the correct code for

Assertion (A) and Reason (R) as

given below :

Assertion (A) : 1970’s is referred to as
a “‘Lost decade’ for Africa.

Reason (R) : Since there was no
economic growth as compared to
1960’s.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A)is true but (R) is false.

(D) Both (A) and (R) are not
correct explanation.
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G- B g ®B -1 7 376 gfed
g & 99 g gAfed HiTT 3 U8 Fe
T TEl ST BT TG HITT ;

=i - | =it - 11
(e (50
a. Fa fraEa §he 1. 1985

b. IR@T G w1 9T 2. 1979
BT

c. Mar=a & 9«1 § 3. 1962

AT
d. @feea ¥ @ 4. 1991

FEMEAHE W

SHThHUT
FHT:

a b c d
A3 4 1 2
B 4 3 2 1
2 1 3 4
M1 2 4 3

FHRIGAINRAT & TSN [T <90 &
T2

(A) FHHEA SR AR
(B) SSHfchec 3R qHUEAH

(C) T 31X AfstfeRea

(D) SSSThEA 3T FHeThHEH

frefafed oot & @ g a¥ IRa-=9 &
TSR AR T &R Y 2

(A) 3R, 2000
(B) T, 2002

(C) TRE=R, 2004
(D) 3w, 2006

39.

40.

41.
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IR ¥ HAREH H Teh A Higel Ie1ga i :
(A) TR AIg

(B) eI oAl

(C) Tostaeredt ufved

(D) TRHTeRT faar

=it erfyerem (A) 3R 9% (R) &

ferT @@t e 1 95 T ;
Ao (A) : dfEferdt gRT SR
aERtear = WEd i & B o
I gheqer enedfear 3 s & foeg
it =l |
a® (R) : 30T TAfeaantaat s A/ o
T 3= ST 3 ST STaT 3% STl
streafean @ STig fear s |
H
(A) (A) &R (R)@.%,W(A)ﬁ
(R) T&t =me i & |

(B) (A) 3R (R) 5 @l € T (A)
& (R) &l = € |

(C) (A)WElg, (R)Tod & |

(D) (A)TeEE, (R)TEIT |

f=rifpa etfirrem (A) 3 a% (R) &
foTT T&t % 1 =TT HIT ;
afirpe (A) 3w & faw 1970 &
TIh ‘g TR o B H Geid
IERIES IR
& (R) : Tk 1960 & T91 I T H
TET e forehTe &l gat o |
@‘:
(A) (A) 3k (R)WO%,W(A)ﬁ
(R) T&t =me i & |
(B) (A) 3R (R) W& & 2 (A) =i
(R) H&l A= 7 |
(C) (A) T E W (R) AL |
(D) (A) 3R (R) ST Ter AR et
T
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42. Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Identify
the correct code from the following :
Assertion (A) The polynodal

regional power structure in West
Asia inhibits the establishment of
stable regional order.

Reason (R) Uneven economic
development fails to provide
regional stability.

Codes :

(A) (A) is right but (R) is not the

correct explanation.

Both (A) and (R) are not

correct.

Both (A) and (R) are correct.
(A) is not right but (R) is
correct.

(B)

(€)
(D)

43. Choose the odd one out :
(A) Operation Desert Storm
(B) Operation Hammer
(C) Operation Dawn
(D) Operation Cactus-Lily

44. The only African nation which is not
part of the African Union is :

(A) Libya (B) Sudan
(C) Morocco (D) Chad

45.  Which one of the following warfare
agents was used by the United States
in its attack against Iraq during Gulf
War Il ?

(A) Depleted Uranium
(B) Nerve gases

(C) Agent Orange

(D) Sarin

46. In which year the South American
Union was formed ?

(A) 2001
(C) 2005

(B) 2003
(D) 2008

47.

48.

49.

50.

GET IT ON
Google Play

Which one of the following groups of
countries formed the Andean Group ?

(A) Chile, Ecuador, Peru, Brazil,
Mexico, Venezuela.

(B) Colombia, Nicaragua,
Honduras, Bolivia, Argentina,
United States.

(C) Brazil, Chile, Peru, Jamaica,
Venezuela, United States.

(D) Bolivia, Chile, Colombia,

Ecuador, Peru, Venezuela.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Identify
the correct code from the following :

Assertion (A) : ‘Bolivarian Vision’
advocated United Latin America
free from hegemonic domination.

Reason (R) : The Latin American
leaders wanted to establish their
own regional order.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are not right.

(C) (A) is true, but (R) is not the

correct explanation.

(A) is not the
explanation of (R).

correct

(D)

Who among the following, described
‘States-men as actors in a tragedy
beyond their making or repair’ ?

(A) George Kennan

(B) Robert Jervis

(C) Henry Kissinger

(D) George K. Tanham

Which one of the following countries
embarked upon the path of ‘Strategic
Defence Initiative’ ?

Paper-I1
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(A) Russia (B) China
(C) USA (D) France
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e 3 FeF T T E | ved R @

TR (A) 2R fgdi@ =t @& (R) el

T ¥ | fEied § @ We e B w9

HIfeT

afyepem (A) Uy wREr § Sg-yde
e T ST fer aee smaen 9
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aF (R) : oHF T o 9 &5

TR AF § SEHeAdT Bidl ¢ |
FE

(=N

(A) (A) Tl & = (R) W& =A™=
TIE |

(B) (A) 3R (R) 3T W&l T&l € |
(C) (A) R (R)IHT T |
(D) (A)Tel & &, W< (R) Wl ¢ |

FfaRad 9 98 61 99 HieTy
(A) SRIA T LH

(B) ARIM W

(C) SREH

(D) 3T heFeq-Terelt

TSHAT TR A ST 3TRIH! TH T T
B

(A)  iifen
(C) ==

(B) gsH
(D) =T

fr=ferfad g tsiel & 9 oTieRT = @it
TZ 11 & IR TH T 3HHAT A g
ISEEIRRIUREDI IR

(A) et RfEm

(B) a9

(C) Tsie AR

(D) WA

TRRTOT STHHT T St T T oy g 2
(A) 2001 (B) 2003

(C) 2005 (D) 2008
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frfetaa et o Tgel & ¥ fov ae

TATEaT THE i YT i ?

(A) Toef, TEEER, UE, S,
SIEEINCE N U

(B) wicAtear, MeREEN,  EigiE,
Sifefaar, ST, SIS
STERIHT
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SASTUAT, TYHT T 3THNR

(D) ifcrtaran, Tael, eI, TSR,
U, SISl

=t &1 e 52 Y €, v S SR
(A) 3T TH H T% (R) HeT T T
feAiTeRd & & Wel e 1 T BT
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T AL fopam ar |

aF (R) : WAl STERIHT & a1 T
?WW@WWW
|
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(A) (A) 3R (R) I & & |
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